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(1) the parsing tree of 001 is not unique thus
Gi is ambiguous .
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S . 19 ,
0 , Y) = <(9 , 2)

S , 19 ,
0 . z) = ((p , E))

S . 19 .
1 , x) = ( (g , 2)]

S . (9 ,
1 , z) = <(4 , 214
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(4) Yes ,

we can design a PDA that recognize 12 .

the PDA in 13) can recognize 21 ,
we can design

a PDA that at the first stage recognize
w

,
based on n 10 ,w) - n(1 , w) = 1 or - 1 ,

if it isI then Line up a PDA
that recognize

wwhose n(0 . w) - n(1 , w) = - 1 and Line

up a pDA that recognize W in the following .

The case for that n10 . u) - n (1 , w)=

is the same above.
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